

ON THE PETROVIĆ INEQUALITY FOR CONVEX FUNCTIONS

J. E. Pečarić, Beograd

Abstract. In this paper we give some generalizations of well-known Petrović's inequality for convex functions.

M. Petrović [14] (see also [10, p. 22]) has proved the following theorem:

THEOREM A. *If f is a convex function on the segment $I = [0, a]$, if $x_i \in I$ ($i = 1, \dots, n$) and $x_1 + \dots + x_n \in I$, then*

$$f(x_1) + \dots + f(x_n) \leq f(x_1 + \dots + x_n) + (n-1)f(0). \quad (1)$$

T. Popoviciu [15] has considered the more general inequality

$$\sum_{i=1}^n p_i f(x_i) \leq f\left(\sum_{i=1}^n p_i x_i\right) + \left(\sum_{i=1}^n p_i - 1\right)f(0), \quad (2)$$

and he obtained that (2) holds for $p_i > 0$ and $x_i \geq 0$ ($i = 1, \dots, n$).

P. M. Vasić [17] (see also [18]) showed that the result of T. Popoviciu is not valid, and proved that (2) holds if $p_1 \geq 1$ and $x_i \geq 0$ ($1 \leq i \leq n$).

F. Giaccardi [7] has generalized the inequalities (1) and (2). The conditions for validity of such an inequality were weakened by P. M. Vasić and Lj. Stanković [19] (see also [9]). Their result is the following theorem:

THEOREM B. *Let $p_i \geq 0$ and x_i ($i = 1, \dots, n$) be real numbers which satisfy*

$$(x_i - x_0) \left(\sum_{k=1}^n p_k x_k - x_i \right) \geq 0 \quad (i = 1, \dots, n), \quad \sum_{k=1}^n p_k x_k \neq x_0. \quad (3)$$

Then, for every convex function f ,

$$\sum_{i=1}^n p_i f(x_i) \leq A f\left(\sum_{i=1}^n p_i x_i\right) + B \left(\sum_{i=1}^n p_i - 1\right) f(x_0) \quad (4)$$

where

$$A = \left(\sum_{i=1}^n p_i x_i - x_0 \sum_{i=1}^n p_i \right) / \left(\sum_{i=1}^n p_i x_i - x_0 \right), \quad B = \sum_{i=1}^n p_i x_i / \left(\sum_{i=1}^n p_i x_i - x_0 \right). \quad (5)$$

If $x_0 = 0$, then (4) reduces to (2).

In [19], the following result was proved:

THEOREM C. Let $x_i, p_i (i = 1, \dots, n)$ be real numbers such that

$$x_n \left(\sum_{i=1}^n p_i x_i - x_n \right) \geq 0, \quad p_n \geq 0, \quad x_n \sum_{i=1}^{n-1} p_i x_i \geq 0, \quad \sum_{i=1}^n p_i x_i \neq 0. \quad (6)$$

Then, for every convex function f ,

$$P_n(p, x; f) \geq P_{n-1}(p, x; f) \quad (7)$$

where

$$P_n(p, x; f) = f \left(\sum_{i=1}^n p_i x_i \right) - \sum_{i=1}^n p_i f(x_i) + \left(\sum_{i=1}^n p_i - 1 \right) f(0).$$

For some further generalizations of the inequalities (2) and (4) see [8], [11], [17] and [19].

I. Olkin [12] (see also [4], [5]) has proved the following result:

THEOREM D. Let $1 \geq h_1 \geq \dots \geq h_n \geq 0$ and $a_1 \geq \dots \geq a_n \geq 0$. Let f be a convex function on $[0, a_1]$. Then

$$\begin{aligned} & \left(1 - \sum_{k=1}^n (-1)^{k-1} h_k \right) f(0) + \sum_{k=1}^n (-1)^{k-1} h_k f(a_k) \geq \\ & \geq f \left(\sum_{k=1}^n (-1)^{k-1} h_k a_k \right). \end{aligned} \quad (8)$$

Results, which prevised this inequality ([2], [3], [16], [20], [21]), are given in [10, pp. 112 and 113].

R. E. Barlow, A. W. Marshall and F. Proschan [1] have proved a generalization of Theorem D (see Remark 2).

In [13] the following generalization of Theorem D was given:

THEOREM E. Let the real numbers $p_1, \dots, p_n$ and $x_1 \geq \dots \geq x_n \geq x_0 \geq 0$ satisfy the conditions

$$0 \leq P_k \leq 1 \quad (k = 1, \dots, n), \quad \sum_{i=1}^n p_i x_i > x_0 \quad (\text{if } x_0 > 0),$$

where $P_k = \sum_{i=1}^k p_i$. If f is a convex function, then the reverse inequality in (4) holds.

In this paper we shall prove, starting with the Fuchs generalization of the Majorization theorem (see [6]) some generalizations of the previous results. Fuchs' result can be written in the following form:

THEOREM F. Let $a_1 \geq \dots \geq a_s$, $b_1 \geq \dots \geq b_s$ and $q_1, \dots, q_s$ be real numbers such that

$$\sum_{i=1}^k q_i a_i \leq \sum_{i=1}^k q_i b_i \quad (k = 1, \dots, s-1), \quad \sum_{i=1}^s q_i a_i = \sum_{i=1}^s q_i b_i,$$

hold. Then, for every convex function f , the inequality

$$\sum_{i=1}^s q_i f(a_i) \leq \sum_{i=1}^s q_i f(b_i) \quad (9)$$

is valid.

Now, we shall prove the following theorem:

THEOREM 1. Let $x_1 \geq \dots \geq x_m \geq x_0 \geq x_{m+1} \geq \dots \geq x_n$ ($m \in (0, 1, \dots, n)$) and $p_1, \dots, p_n$ be real numbers such that $x_i \in I$ ($i = 0, 1, \dots, n$; I is an interval in R), $\sum_{i=1}^n p_i x_i \in I$ and

$$\sum_{i=1}^k p_i \left(\sum_{r=1}^n p_r x_r - x_i \right) \geq 0 \quad (1 \leq k \leq m), \quad \sum_{i=k}^n p_i \left(\sum_{r=1}^n p_r x_r - x_i \right) \leq 0 \quad (10)$$

$$(m+1 \leq k \leq n).$$

Then, for every convex function f on I , the inequality (4) holds. If the reverse inequalities hold in (10), then the reverse inequality in (4) holds.

Proof. By substitutions

$$s = n+1; \quad a_i = x_i, \quad q_i = p_i \quad (i = 1, \dots, m); \quad a_{m+1} = x_0, \quad q_{m+1} = B(1 - P_n);$$

$$a_i = x_{i-1}, \quad q_i = p_{i-1} \quad (i = m+2, \dots, n+1);$$

$$b_i = \sum_{i=1}^n p_i x_i \quad (i = 1, \dots, n+1);$$

and

$$s = n+1; \quad a_i = \sum_{i=1}^n p_i x_i \quad (i = 1, \dots, n+1); \quad b_i = x_i, \quad q_i = p_i \quad (i = 1, \dots, m); \quad b_{m+1} = x_0, \quad q_{m+1} = B(1 - P_n); \quad b_i = x_{i-1}, \quad q_i = p_{i-1} \quad (i = m+2, \dots, n+1);$$

from Theorem F, we get Theorem 1.

Remark 1. For $x_1 \geq \dots \geq x_n \geq x_0$ the conditions (10) become

$$\sum_{i=1}^k p_i \left(\sum_{r=1}^n p_r x_r - x_i \right) \geq 0 \quad (k = 1, \dots, n), \quad (11)$$

and for $x_0 \geq x_1 \geq \dots \geq x_n$

$$\sum_{i=k}^n p_i \left(\sum_{r=1}^n p_r x_r - x_i \right) \leq 0 \quad (k = 1, \dots, n). \quad (12)$$

If $p_i \geq 0$ ($i = 1, \dots, n$), the conditions (11) and (12) can be replaced by the conditions $\sum_{i=1}^n p_i x_i \geq x_1$ and $\sum_{i=1}^n p_i x_i \leq x_n$, which are completely equivalent to the condition (3).

From Theorem 1, for $x_0 = 0$ we get:

THEOREM 2. Let the real numbers $x_1 \geq \dots \geq x_m \geq 0 \geq x_{m+1} \geq \dots \geq x_n$ ($m \in (0, 1, \dots, n)$) and $p_1, \dots, p_n$ satisfy the conditions $x_i \in I$ ($i = 1, \dots, n$; $0 \in I$), $\sum_{i=1}^n p_i x_i \in I$ and (10). Then, for every convex function f on I , the inequality (2) holds. If the reverse inequalities in (10) hold, then the reverse inequality in (2) is valid.

Now, we shall give some special cases of Theorems 1 and 2.

THEOREM 3. Let $x_1 \geq \dots \geq x_m \geq x_0 \geq x_{m+1} \geq \dots \geq x_n$ ($m \in (0, 1, \dots, n)$) be real numbers such that $x_i \in I$ ($i = 0, 1, \dots, n$), $x_m \geq 0$ and $x_{m+1} \leq 0$.

(a) If p is real n -tuple such that

$$0 \leq P_k \leq 1 \quad (k = 1, \dots, m), \quad 0 \leq \bar{P}_k \leq 1 \quad (k = m+1, \dots, n) \quad (13)$$

$$(\bar{P}_k = P_n - P_{k-1}),$$

then for every convex function $f: I \rightarrow \mathbb{R}$, the reverse inequality in (4) holds.

(b) If $\sum_{i=1}^n p_i x_i \in I$ and if either

$$P_k \geq 1 \quad (k = 1, \dots, m), \quad \bar{P}_k \leq 0 \quad (k = m+1, \dots, n); \quad (14)$$

or

$$P_k \leq 0 \quad (k = 1, \dots, m), \quad \bar{P}_k \geq 1 \quad (k = m+1, \dots, n); \quad (15)$$

then (4) holds.

Proof. (a) For $k = 1, \dots, m$ we have

$$\begin{aligned}
 \sum_{i=1}^k p_i \left(\sum_{r=1}^n p_r x_r - x_i \right) &= \left(\sum_{r=1}^n p_r x_r - x_k \right) P_k + \sum_{i=1}^{k-1} P_i (x_{i+1} - x_i) = \\
 &= P_k (x_m P_n - x_k + \sum_{i=1}^{m-1} P_i (x_i - x_{i+1}) + \sum_{i=m+1}^n \bar{P}_i (x_i - x_{i-1})) + \\
 &+ \sum_{i=1}^{k-1} P_i (x_{i+1} - x_i) = P_k (x_m P_n - x_k) + (1 - P_k) \sum_{i=1}^{k-1} P_i (x_{i+1} - x_i) + \\
 &+ P_k \sum_{i=k}^{m-1} P_i (x_i - x_{i+1}) + P_k \sum_{i=m+1}^n \bar{P}_i (x_i - x_{i-1}) = \\
 &= P_k (P_n - 1) x_m + (1 - P_k) \sum_{i=1}^{k-1} P_i (x_{i+1} - x_i) + \\
 &+ P_k \sum_{i=k}^{m-1} (P_i - 1) (x_i - x_{i+1}) + P_k \sum_{i=m+1}^n \bar{P}_i (x_i - x_{i-1}) = P_k (\bar{P}_{m+1} x_{m+1} + \\
 &+ (P_m - 1) x_m) + (1 - P_k) \sum_{i=1}^{k-1} P_i (x_{i+1} - x_i) + \\
 &+ P_k \sum_{i=k}^{m-1} (P_i - 1) (x_i - x_{i+1}) + P_k \sum_{i=m+2}^n \bar{P}_i (x_i - x_{i-1}) \leq 0.
 \end{aligned}$$

Analogously, for $k = m + 1, \dots, n$ we have

$$\begin{aligned}
 \sum_{i=k}^n p_i \left(\sum_{r=1}^n p_r x_r - x_i \right) &= \bar{P}_k (x_{m+1} (\bar{P}_{m+1} - 1) + x_m P_m) + \\
 &+ \bar{P}_k \sum_{i=1}^{m-1} P_i (x_i - x_{i+1}) + \bar{P}_k \sum_{i=m+2}^k (\bar{P}_i - 1) (x_i - x_{i-1}) + \\
 &+ (1 - \bar{P}_k) \sum_{i=k+1}^n \bar{P}_i (x_{i-1} - x_i) \geq 0.
 \end{aligned}$$

Using (13) we also have $x_1 \geq \sum_{i=1}^m p_i x_i \geq 0$ and $0 \geq \sum_{i=m+1}^n p_i x_i \geq x_n$ wherefrom we have $x_1 \geq \sum_{i=1}^n p_i x_i \geq x_n$.

Using the above identities we can prove (b).

From Theorem 3, for $x_0 = 0$ we get:

THEOREM 4. Let $x_1 \geq \dots \geq x_m \geq 0 \geq x_{m+1} \geq \dots \geq x_n$ ($m \in (0, 1, \dots, n)$), $x_i \in I$ ($i = 1, \dots, n$) and $p_1, \dots, p_n$ be real numbers.

(i) If (13) holds, then for every convex function $f: I \rightarrow R$ the reverse inequality in (2) is valid.

(ii) If the conditions of Theorem 3(b) are fulfilled, then (2) holds.

Remark 2. In [1], the following result was given:

Let $x_1 \leq \dots \leq x_m \leq 0 \leq x_{m+1} \leq \dots \leq x_n$. (a) Reverse inequality holds in (2), if and only if (13) holds. (b) (2) holds if and only if there exists $j \leq m$ such that $P_i \leq 0$, $i < j$; $P_i \geq 1$, $j \leq i \leq m$, $\bar{P}_i \leq 0$, $i \geq m+1$, or there exists $j \geq m$ such that $P_i \leq 0$, $i \leq m$; $\bar{P}_i \geq 1$, $m+1 \leq i \leq j$; $\bar{P}_i \leq 0$, $i > j$.

For $j = 1$ and $j = n$, from (b), we get (ii) from Theorem 4.

Using Theorem 2, we can extend the conditions under which the inequality (7) holds. Namely, from it we obtain that inequality

$$f(q_1 a_1 + q_2 a_2) - q_1 f(a_1) - q_2 f(a_2) + (q_1 + q_2 - 1)f(0) \geq 0 \quad (16)$$

holds if:

$$a_1 \geq a_2 \geq 0 \text{ and}$$

$$q_1(q_1 a_1 + q_2 a_2 - a_1) \geq 0, \quad q_1(q_1 a_1 + q_2 a_2 - a_1) + q_2(q_1 a_1 + q_2 a_2 - a_2) \geq 0; \quad (17)$$

$$\text{or } 0 \geq a_1 \geq a_2 \text{ and}$$

$$q_2(q_1 a_1 + q_2 a_2 - a_2) \leq 0, \quad q_1(q_1 a_1 + q_2 a_2 - a_1) + q_2(q_1 a_1 + q_2 a_2 - a_2) \leq 0; \quad (18)$$

$$\text{or } a_1 \geq 0 \geq a_2 \text{ and}$$

$$q_1(q_1 a_1 + q_2 a_2 - a_1) \geq 0, \quad q_2(q_1 a_1 + q_2 a_2 - a_2) \leq 0. \quad (19)$$

The reverse inequality in (16) holds if in (17), (18) and (19) the reverse inequalities holds.

Using the substitutions: $a_1 = x_n$, $a_2 = \sum_{i=1}^{n-1} p_i x_i$, $q_1 = p_n$, $q_2 = 1$; and $a_1 = \sum_{i=1}^{n-1} p_i x_i$, $a_2 = x_n$, $q_1 = 1$, $q_2 = p_n$, we get that (7) holds if

$$\sum_{i=1}^n p_i x_i \geq x_n \geq 0, \quad \sum_{i=1}^n p_i x_i \geq \sum_{i=1}^{n-1} p_i x_i \geq 0; \quad (20)$$

or

$$x_n \geq 0 \geq \sum_{i=1}^n p_i x_i, \quad x_n \geq \sum_{i=1}^{n-1} p_i x_i \geq \sum_{i=1}^n p_i x_i; \quad (21)$$

or if either of the conditions (20) and (21) hold, with the reverse inequalities.

The reverse inequality in (7) holds if

$$\sum_{i=1}^{n-1} p_i x_i \geq x_n \geq 0, \sum_{i=1}^{n-1} p_i x_i = \sum_{i=1}^n p_i x_i \geq 0; \quad (22)$$

or

$$x_n \geq 0 \geq \sum_{i=1}^{n-1} p_i x_i, x_n \geq \sum_{i=1}^n p_i x_i \geq \sum_{i=1}^{n-1} p_i x_i; \quad (23)$$

or if either of the conditions (22) and (23) hold, with the reverse inequalities.

By combining the condition (21) and the corresponding condition with the reverse inequalities, we obtain (6).

The author is grateful to Professors I. Olkin and P. M. Vasić for the useful suggestions.

REFERENCES:

- [1] R. E. Barlow, A. W. Marshall and F. Proschan, Some inequalities for starshaped and convex functions, *Pacif. J. Math.* **29** (1969), 19—42.
- [2] R. Beliman, On an inequality of Weinberger, *Amer. Math. Monthly* **60** (1953), 402.
- [3] M. Boernacki, Sur les inegalitiés remplies par des expressions dont les termes ont des signes alternés, *Ann. Univ. Mariae Curie-Skłodowska* **7 A** (1953), 89—102.
- [4] H. D. Brunk, On an inequality for convex function, *Proc. Amer. Math. Soc.* **7** (1956), 817—824.
- [5] ———, Integral inequalities for function with nondecreasing increments, *Pacif. J. Math.* **14** (1964), 783—793.
- [6] L. Fuchs, A new proof of an inequality of Hardy-Littlewood-Pólya, *Mat. Tidsskr. B.* 1947, 53—54.
- [7] F. Giaccardi, Su alcune disuguaglianze, *Giorn. Mat. Finanz.* **1** (4) (1955), 139—153.
- [8] J. D. Kečkić and I. B. Lacković, Generalization of some inequalities of P. M. Vasić, *Mat. Vesnik* **7** (22) (1970), 69—72.
- [9] P. Lah and M. Ribarič, Converse of Jensen's inequality for convex functions, *Univ. Beograd. Publ. Elektrotehn. Fak. Ser. Mat. Fiz.* No 412—No 460 (1973), 201—205.
- [10] D. S. Mitrinović (In cooperation with P. M. Vasić), *Analytic Inequalities*, Berlin-Heidelberg-New York, 1970.
- [11] A. W. Marshall, I. Olkin and F. Proschan, Monotonicity of ratios of means and other applications of majorization, In: *Inequalities*, edited by O. Shisha. New York—London 1967, 177—190.
- [12] I. Olkin, On inequalities of Szegő and Bellman, *Proc. Nat. Acad. Sci. USA* **45** (1959), 230—231.
- [13] J. E. Pečarić, On the Jensen-Steffensen inequality, *Univ. Beograd. Publ. Elektrotehn. Fak. Ser. Mat. Fiz.* No 634—No 676 (1979).

- [14] *M. Petrović*, Sur une fonctionnelle, Publ. Math. Univ. Belgrade **1** (1932), 149—156.
- [15] *T. Popoviciu*, Les fonctions convexes, Actualités Sci. Ind. No 922, Paris, 1945.
- [16] *G. Szegő*, Über eine Verallgemeinerung des Dirichletschen Integrals, Math. Z. **52** (1950), 676—685.
- [17] *P. M. Vasić*, O jednoj nejednakosti M. Petrovića za konveksne funkcije, Matematička biblioteka, No 38 (1968), Beograd, 101—104.
- [18] ———, Sur une inégalité de M. Petrović, Mat. Vesnik **5** (20) (1968), 473—478.
- [19] ——— and *Lj. Stanković*, On some inequalities for convex and g -convex functions, Univ. Beograd. Publ. Elektrotehn. Fak. Ser. Mat. Fiz. No 412—No 460 (1973), 11—16.
- [20] *H. F. Weinberger*, An inequality with alternating signs, Proc. Nat. Acad. Sci. USA **38** (1952), 611—613.
- [21] *E. M. Wright* An inequality for convex functions, Amer. Math. Monthly **61** (1954), 620—622.

(Received March 7, 1979)

(Revised August 5, 1979 and June 13, 1980)

Građevinski fakultet pp 895

11000 Beograd, Yugoslavia

O PETROVIĆEVOJ NEJEDNAKOSTI ZA KONVEKSNE FUNKCIJE

J. E. Pečarić, Beograd

Sadržaj

U članku je dokazana slijedeća generalizacija poznate Petrovićeve nejednakosti za konveksne funkcije

TEOREMA 1. *Neka su $x_1 \geq \dots \geq x_m \geq x_0 \geq x_{m+1} \geq \dots \geq x_n$ ($m \in (0, 1, \dots, n)$) i $p_1, \dots, p_n$ takvi realni brojevi da $x_i \in I$ ($i = 0, 1, \dots, n$), $\sum_{i=1}^n p_i x_i \in I$ i da važi (10). Tada za svaku funkciju f konveksnu na I važi (4), gdje su A i B definisani sa (5). Ako u (10) važe suprotne nejednakosti, tada suprotna nejednakost važi i u (4).*

U specijalnom slučaju dobija se:

TEOREMA 3. *Neka su $x_1 \geq \dots \geq x_m \geq x_0 \geq x_{m+1} \geq \dots \geq x_n$ ($m \in (0, 1, \dots, n)$) takvi realni brojevi da $x_i \in I$ ($i = 0, 1, \dots, n$), $x_m \geq 0$, $x_{m+1} \leq 0$.*

(a) *Ako je p takva realna n -torka da važi (13), tada za svaku konveksnu funkciju $f : I \rightarrow R$, važi suprotna nejednakost u (4)*

(b) Ako $\sum_{i=1}^n p_i x_i \in I$ i ako važi ili (14) ili (15) tada važi (4).

Za $x_0 = 0$, iz Teorema 1 i 3 dobijaju se respektivno Teoreme 2 i 4, a takođe su dobijeni neki rezultati koji se odnose na rafiniranje Petrovićeve nejednakosti.